Anre6pa, 8 ”B”, 25 Hoabpsa, camocTosTEIbHAsA paGoTa.

1) Beramcamre: a) v24-26-39;  6) 1/29,4-62,5- %

2) BemecuTe MHOXATENb 33 3HAK KOpHA: &) V 72a3b%c?;  6) V9675.

3) BrecuTe MHOKUTETH O 3HAK KOpHA: a) 14ab’>v/10 (a, b < 0);  6) 6ab®4/ lf—ba; B) (1 — )4/ ﬁ
6) Va3 —522 + 3z +9
3—=z

4) Yupocrure: a) V1622 — 8z + 1 — V2 — 4z + 4 npu = < —2;

5) Beraucaute: a) (V27 —v2)(V3 +v8) (V6 —1);  6) \/5,(4) + /2, (6).
6) Kaxoe nenoe uucio 6amxke Bcero x /1005007

mpu —1 < z < 3.

Aare6pa, 8 ”’B”, 25 Hoa6paA, foMalllHee 3adaHUeE.

4.756, 4.798, 4.816, 4.828r, 4.83a8, 4.846r, 4.878r, 4.898r, 4.90r, 4.914a, 4.1008.



